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MDE/D-21 4399
ACCOUNTING FOR MANAGERIAL
DECISIONS
MC-105
Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 consisting six
short answer type questions of 4 marks each is
compulsory. Remaining questions carry equal marks.
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1. Short answer type questions :

(a) Cost accounting as a tool of management accounting
(b) Management operating system

(¢) Revenue/profit centres

(d) Return on Investment/Residual income approach
(e) Cost volume profit analysis

(f)  Value chain analysis.
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2. Describe the process of installation of management
accounting system for cycle manufacturing company.
wEfere fon soft & fofu et i@ qoell i T
I ik & 9 IS |

3. Explain the contents of proforma report and describe
important factors to be kept in mind while preparing

report for top executives.
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4. Justify the need of various types of responsibility centres
to be created for responsibility accounting.
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5. A company produces single product. The cost information

is as :
Material cost = Rs. 16 per unit
Conversion cost = Rs. 12 per unit

Dealers’ margin

(10% of sales) = Rs. 4 per unit

(5)L-4399 2



Selling price = Rs. 40 per unit

Fixed cost = Rs. 5,00,000
Present sales = 90000 units
Present capacity utilization = 60%

There is stiff competition and suggest the optimum solution

to increase sales through :

(a) Reducing sales price by 5%

(b) By increasing dealer’s margin by 25% of the existing
rate to maintain present level of profit.
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6. Describe various types of labour cost variances and explain

the reasons for these variances.
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7. Describe the need of price level accounting and explain

the replacement cost accounting method with example.
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8. Present a comparative view of Conventional Cost

accounting system and activity based costing.
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